2’s complement exercises
1. Write a method that takes a positive integer (<= 127) and prints its 2’s complement representation.

2. Write a method that takes a negative integer (>= -128) and prints its 2’s complement representation.
3. On paper, do the following operations in binary (use what you did in the previous two exercises to get the binary representations of the numbers).  Assume that the numbers are all stored in a byte (= 8 binary digits).

a. 37 + 19

b. -37 – 19

c. -37 + 19

d. 100 + 50 (detect the overflow)

e. -100 – 50 (detect the overflow)

f. 9 * 11

g. -9 * -11

h. -9 * 11

4. Write the 16 digit binary representation of the following numbers 

a. 37

b. -37

5. In homework # 5, your computations should never overflow.  The trick is to enlarge the binary representation of the numbers you are computing with to a size that guarantees the absence of overflow.  Starting with an 8 bit size, practice with the following:
a. 14 * 10

b. -14 * -10

c. 127 + 1

